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MID TERM EXAMINATION
CLASS: XI
SUBJECT: PHYSICS

TIME : 3 HRS. ; M.M. 60
General Instructions :
i)  Thereare 26 questions in this question paper. All questions are compulsory.

i)

iif)

iv)

This question paper has five sections, Section 'A’, Section 'B', Section 'C',

Section 'D'and Section 'E’.

Section A contains 8 questions of one mark each, Section B contains 8 question
of two marks each, Section C contains 6 questions of 3 marks each, Section D
contains one value based question of 3 marks and Section E contains 3 ..

questions of five marks each.

There is no overall choice among the questions. However an internal choice
has been provided in one question of two marks, one question of three marks
and all the three questions of five marks weightage. You have to attempt only

one of the choices in such questions.
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Write any two characterstics of standard unit.

3 3 6 S S
| Give the example of a body having cons 2d, still in accel ated motion.
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Define momentum. Give 1t

PHY.(MOR)XI ;

Faa -



F 1]

5/ e Wi R @l A T R T % | e S 5r e T R
= HIF 31 8 2 1

nding of a weighing machine. What will be the weight shown
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Sudden motion on a blanket removes dust particle. Why ?

Define conservative force. Give its one '
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Define centre of mass of a body.
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Describe the parallex method to measure the distance of distant star, °
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Check the dimensionally acei
have their usual meanings.
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\/éhnw that resultant R of two vectors A and B inclined at angle 0 is

R =VA™+B*+2ABCos 0 Also find its direction with A o

A Cricketer pulls his hands backward




\/Define power. Obtain an expression for it in terms of force and velocity. A trolley of
mass 300 kg carrying a sand bag of 25 kg. is moving uniformly with a speed of 27
km/h on a friction less track. After a while sand starts leaking out pf a hole on the
floor of the trolley at the rate of 0.05kg s'. What is the speed of the trolley after the
entire sand bag is empty ?
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due to their own force of attracti
Write one factor on which C.M. of
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A police van moving on a high way with a speed of 30 km/h, fires a bullet at
thief's Car speeding away in the same direction with a speed of 192km/h. If the
muzzle speed of the bullet is 150m/s. With what speed does the bullet hit the
thief's car’ 3
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For the given figure calculate acceleration of the two masses m, and m,. Assume

there is no frictional force and strings are light and inextensible (m, >m,).
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JH<block of wood of mass 3 ke inclined surface

Angle of inclination of the surf:

1)  Name the forces 1,2 and

ii)  If the coefficient of s e of all the three

forces (Takeg = 10
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A body of mass 2 kg initially at rest moves under the action of an applied horizontal
force of 7 N on a table with coefﬁcacntﬂfmmtwﬁm%ﬁ; sl

Work done by the applied force in 10s.

Work done by the friction in 10s.

¢)  Workdone by the net force on the body 1

Obtain an expression for the position vecto
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Krishna was driving a Car on level road. His friend Rama was sitting besides him. *
On a turn Krishna observed that road was not levelled and it was raised at one edge.
He asked his friend its reason. His friend gave a correct explanation of it to satisfy
the curosity of Krishna. The Car has to move on a levelled turn of radius 45m. If the
coefficient of static friction between the tyre and the roa

is ps= .2, then
i) What will be the speed of car so that the car does not skid.

i)  What values are exhibited by Krishna and his friend.
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a)  Show that trajectory of aprojectileis parabolic.
b) lfthe time of flight of a projectile pmjected with a velocity # 4t an angle 0 is
maximum range and its value. 5
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A cyclist is riding with a speed of 27 km h. As]
thsmadnfradlusSt}m,htapphesbrakesandmdmmss[mdﬂﬂr stant
rate of 0.5 ms”. What is the magnitude and direction of the net acceleration of

the cyclist on the circular turn?
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;\9/ Explain -

i) Whyduesahursehavetnappl}?mm

moving ?
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force to start a cart than to keep

b) State two advantages and two disadvar
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